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09100000 4unLflzp 12 020,(

09t322m FLftqlttt, nhqnqlryt 92 tj.tt J)L 28 000 9 800,0(

09132100 Chbqlltt, qphAnul c2 tl-p 37(, 6 000 2 220,0(

tUiM000 Chhunwnultutlt lunuahn L hunuhho utnnunnuhp oKq a

44163260 tut4n{uQ tt hp/t lLQntulry It Lp UU tlhup 585 12 7,/

44192200 a.utthp UU 4q 2 100 I 2.1

441il412 LtpQ,2ltltupupuQutlt UU 4c 965 200 193.1

441 I l417 LufuwhhpQ UU 8s 840 60 50..i

441 I 1412 LLpQ,2lthupupullwtt UU qc I 000 80 80.(

441 I 1200 SttItbu UU hq 56 3500 196,(

441 I 9100 ulunuQ UU tI3 150 000 I t50,(.

441 92200 4uttlbp UU 0q 700 10 7,(,

44192200 4utItV UU 4c 700 4

44r92700 LLp Quqpt IQQ 2lt lttrptuputQult ut2luw uw lrylt hpf hutup UU hun 2 200 t2 26,1

44163170 ftLnlltLluqnlull UU I 1 000 2U 50,(

441 18310 An4qunh pftpt4 UU 4c 710 283 200,t

398M000 Uwppn4 It tJz w11hghn4 utlzuuyt ut hp 260,(

39831283 ZwuaQlt llutgtluh 1ap UU hun 1000 30 30,0(

39831281 U t4 w lllt tlupp tlut lt lutp UU hwn 1350 2 2,7(

39831247 U fu n uh u tna h L4 n LQ u u lth u h qn 419fi h w [u p /lu n ut lL 1 n ry UU hun 906 40 36,0(

3981 I 100 C4lt pwptlwgnryj2ltbp UU hwn 500 35 17.5(

39831240 Uuppn4 l4nqahp UU hun 300 20 6.0(

3983124() Uwpltn1 funryQt UU hun 370 55

39831240 Uwppn4 Qnrytp UU hun 930 15

39831240 Uwppn4 hptpbp UU hwu 450 60 27,0(,

39831284 lw u ut I/t tfwpp tw [t h h4n LQ lu uw ltln tp UU hwn 1400 40 56,01

39831242 t(wpl (-Zlt Abnpn{ plwltwpt hwtltup UU hwn 350 30 10,5(

39831245 Otrutn, hb4ntQ UU hutu 1600 40,0(

30200000 luttlutb unaturhh uunoulnnnulh.hn h hntehn 2 950,5(

3021 1220 Uh4 u h/t hutall apqlry It bp g2 huu 2 000 000 I 2 000,01

3021 I I 90 U tt Ah u 11 tu It h u lu h u p q llS I] t p a2 hum 215 004 2 130,0(.

302321 10 Zu [u lt uno I u t h lt uu n putln n nufh hn h lttnto hn 4) hun 71 000 I 71.(

30232231 lu tIu 11 u p q2lt 11 n2n u 11 u { wnu 11 hun 55 000 3 165,1

30234650 fitht hhzntnLBtah, 32 9p hun 4 500,0 10 15.(

30237460 |utr,tut Q up q2qlt lt un b4 hu2utp huttn 4 00( 5 20,1

30237412 UQ ttlt Q, h utrlu Q wpq2qlttt, utttptp hutn 2 706 5 t3,:

30237490 2u twQ upq2qlth tlnhlz mp q2 hutn 79 00[ I 79,(

30232231 lutuQupq2lt Qn2n ufut{wmE /SSD256 GB hun 25 00[ I 25,(

30216200 Uwqt$uwQwtt pwpu hp Qup4ugnq uwpp hp q2 hun 5 600 5 28,(

302361 10 Cwbpunhi hhzqnqarnth ddr4 4eb 92 hun 14 800 5 71,(.

fi70tu00 U hthut h utlt fu hutdph q unucu h hn

33761400 Aryah whnhnngl,QhLp UU hwu 20[ 20 1,1

33761400 lln>h tnhALnnahhhhn t UU hwn 40[ 30 /2,(

33761300 2hnplt p4ph upplryhhp UU hwn 75[ 300 225,1

33761 I 00 Qnnunuhh pnqB UU hun 151 600 90,(

33761 100 9ntqupwhfi pnuya UU hun ??/

3371 1480 Otm UU hun 151 20 3,1

33731200 'I)u2nquh/ts humQ ullltng / UU hun I



395M000 Anryllulthp \unple 1Z t2

39$I7m nqhqnpqLp UU hun 2 500 4 10,0[

395UIm Upp|2hhp pu[pul11u UU huu 560 2 tl
39541110 IlnwpQwhhT Q*plg UU u 150 20 3.01

l6IAXX0 41nt4wu hu tuu lluth lt u huuna4,ft h tnhu htn ryyut It I 0,0[

1il611m U11 qu huqw h utlq hqnpfui lu tt u wppu{ryn uIIt tp UU hun t0 000 I t0,(

19ffi0 Vuttlh, uhpunhh, ntuhhh It qruuatuuuutrh euthnltlthn 30,5[
196410U llnt h tph h ltuth It ut wn lt, unph h utlun UU hwu 520 30 15,61

19542100 Anli fuJ4 t hutllt It t4 wp Il UU hwu 75 200 15,0(,

3144000 Untuutllf1 hhp, S{hpry ltgn{np{n4 It 4u1 i,Jultult ut It dunntngl)bn 205,50

314421-00 4n tmwQlry {ryt nllngtt t1t UU hwu 85 00( 2 170.00

31442000 UuVnQng, AA nbuuQlt UU hun 40( 40 16,00

31441000 Uupnlng, A.4A nhuuQfi UU hun 40( 30 12,00

31442140 UwpnQng,94 UU huu I 704 5 8,5(

s3600000 a b4 uqnptu 11 uh up u uryt u hp 68,75

33691 147 Anthul4ntptp UU t-lt-lt 10 00( I) 15,00

3369r r47 raniltu[4ntptp UU tltup 20 00[ I 20,00

33691 147 @nthuthlntphp UU tJtult 10 00( 2 20,00

33691 147 @nLltut4ntpbV ,/qn1nU UU finp O ZJL I 6,25

33691 147 thtthwfuntphp Qhpnlt/ UU t]rp I 00( 0,5 4,00

33591 1 42 @nthuthlnzpbp /abgJtu/ UU tJr-p 7 00( 3,50

181MoM Uuubuq,ft nuluh hw4nuu, hutunill utpuuhut7nrun h quput4utlthp 94,00
18141 100 Ufu uuu ltputfi h L Lnhnglt hp UU gn4q 30( 40 12,00

1811 I 100 Un[pJzlt]tqnlt UU hun 600( 7 12,00

18141100 Ufu wn tu hpry| h ALnttnglt hp UU qnLlq 40( 100 J0,04

14200000 Uiuq h QUI r38,92

142111m Utl*q UU d3 7 30[ ot 67,16

14211 110 Iulrt UU [3 7 80[ s2 71,76

392M000 Suthtu{npuhp 44,24

39224331 7nq7 q1uuntuut UU huu 7 501 I 7,50

39221490 Uqn L ttq w ltu b lttutt: utlnt UU hutn 22( 10 2,26

39221420 tunqultuQ UU hun 50( 25 t5,0(

39221420 (pAltlt lthpQupupuSuh UU hwu 45[ 30 13.5(.

39241250 Aunhplt [futtun UU hwn 600[ I 6,0(.

33600000 1 L4ugnptw llwh utp u ut4p ut ltp 2.0(

33691 129 Lwqzlnufftp1npft4 UU hc 8[ 25 2.0(

30100000 4pututltlutQu4lzh dtphltutlttp, uwppu{npndhhlt h funryhp putgtanntplutttp hutlutQupqh2lthpi, 429,45

30197622 Anuya U4 $nplwuJt UU qc 826 500 410.0(

30192231 Ulln2 UU huu 50[ 20 t0,0(

30192210 t4nlptIhpaqhtl J1l)pltutQ t42nttt dtnr4utl t It UU hun 450 21 9,45

313M000 UhQntuwg(ut lutptp It tlwlntfutthp 61 Z5(
31331 I 93 HbllnnwUuth tlutntfu al{U UU tI 304 t00 30,0(

31331 I 93 ElbllnpwQwh du1n4u 4)qU UU II 424 300 126,0[

31331 I 93 E1h Qup aQ w It twln LJU 4l 4 U UU I 300 t86,0(

31331 193 fi tl1 np wQ w It tIwl ntfu 't) 4 U UU I 904 100 90,0(

31331 193 tlbQnpuQu It tIulntfu 'r) { U UU 604 200 120,01

t93 E1L Q np w Q w It tlutl ntfu 't) 4 U UU I 404 100 40,0(

31331193 E1b ! np uQ ut It tIwln lu'r) 4 U UU I 255 r00

228M000 fttya h luttt uu{aryryaryah qput hgurlutryut ltlt hp, hw2{utn[u It qpphit, up uq uQ aphhp, tLutp4php lt 37,50
22851200 tuyawryuLwllLhp UU htun 754 50 37,5[

33100000 Fd2llutllutlt uutpptp o40

33141 129 '$rlutQ UU huu 1000 23.0

33141 129 'lttlwQ UU hwm 80( 27 2t,6
33141129 lttlwQ UU huu 1t 1000 16,0

244@000 'Dutpupnut hptphp It utgn alt [/tugt LBTn LIt It hp 60,6

24451 141 Ufu uuthut ttlt2 h fu n L Q I4n ry hp UU hwu 521 30 t5.6

24441 100 Qw h utqu lt t4u4wp n u l4nLpLp UU Qc z)L 80 20,6

Ulu n tuhu ltf2 h b4n LQ hlntpbp UU hun 50( 50 25,4

424tM000 U[rutpAhS h uhnu{tnfunn uunptn h nauths [ututn 140.04

42415500 CwVduuuh4nLfup[tLp UU hun 70 00( 2 1il,4
38400000 fltqfi|ul1 ut It hwull wltlylt hplz unnry[utlt qnptftphhp 188,04

3841 I 700 thpfuuwpphp UU hwu 28 00( 6 t68,00

38431570 QLnnryJz2 uutlltStthp UU hun 20 00( I 20,00

312m000 E1h Qqtw! uhnryluh putfu [ailt lt t]hauhuQ tut h uwppantnpnullt hp 263,20

3121 I 180 U{mdun wlt2un}2 UU hwu I 20( 24 28,80

3I2I I 180 Ulm[un ultpun]t2 UU hun I 201 12 11.44

3121 1400 U ltpuu hs pudu ltun wn /Il I Lr]- I 0/ UU hun I 1000[ 2 220,04

421&nO0 Uhluutlthbultuth th bneh uth u nuunndutt b oauuqnntlu It tltpt ltuh tn 50,4

42131100 Qullwtth Lp pun qnqtunnqphhph UU hwu 15 000 4 60,4



397M000 V b Itgrwt1 ufi tt u blu llz Q w 32,00
39714100 Oau7hnluJt;ltLp UU hun 16 004 2 32,00

3t1M000 Elhllupullu h 2tupdlzlhLp, 4htttpuwp h hp It {nfu uL hnq hth tn 105,00
31 151 120 Ultfu u{t ufi uhn rytu[t u4p1n Lp It tp UU hun 35 00d 3 t05.00

325m0fr 2 hnuh u4np4utllgnlult uupphp It lqn tphp 18,04

32551 150 2 bnulunuutllt lt uw pp hp UU huu 18 00( I 18,0A

324$OO00O Suthghp 226,04

32421200 3w ttgwllt tt ptu4 w4plt2 It bp UU hwn 21 50[ 86,0

32421200 3 u hgaalJz h pu4 ut4p /tS It hp UU hun 35 001 2 70,0
32421300 Sultgufitt pudultuVtup UU hun 35 00( 2 70.4

4430W0 Uw1 n tfu h t p, Ibu utn uU u n b n b h ut n u It hg u n u unn ur hD 58,54
44322100 Uutlnlu hurlulupq2lt, atp l1upt1 UU [hnp 71 30s 21 5L

44331300 Uhuulu1up UU 8c 800 10 8.0(.

44322240 UbpQ hw4np4ulwn /A25/ UU [hnp 145 200 29,0(
39100000 Auhnqp 204,34
39151220 Auhnqpfi lututp Lu[-/z[tuW UU hun 28 000 5 t10.0(
39151220 VuhnqpJt rIuuLF,rlt{q,/ UU hwn 5 200 2 10,4d

39151220 Vuthn4pJt tlututp /4)'{U/ UU hun I5A 100 b,0L
39151220 Vwhnqpl [wuhp UU hun 60( t8 10,80

39151220 Vuhnryp| lutuhp UU hutn 55( 19 /0,15
39151220 Vwhnqplt tlwuhp UU hutu 15( 20 3.00

s9151220 Quthn4plt [uutp UU hun 3 85( I 3,85
39151220 QuhnLlpl [uuLp UU Aun 89( l 0,89
39151220 Vuhnqpjz [uubp UU hun I 85( I LdJ

39151220 Vuhnqpf [tnubp UU huu 45t t8 8.t0
24900000 Fupdp npuQJt It qwltwgutt utlt phrlhultutlt utnuwtnuhp 43,80
249t 1200 Unufhn, fiIntpltu UU 4q | 30( I /,30
24951 I 10 Puul4nzptV UU hutn I 501 5 42,t
4454000 4nptlzplthp, tlzwl1wbhhp, pwttwllzhtp, lltululz2hhp, utdlzug&n4 4hnulfthp,24puhhp L qut4wttwStthp 6t 0,55
4451 1250 9ubuqwfi lluy:LphLp L fiuQultltLp UU hwu 45[ 4.0:

4451 1250 Uh4[h2 upgml]htp UU huu 6 50( I 6,5(
44511220 Sryt u n huut Q A hnplt qnV 6|p It hp UU hwu 540 00( I 510,0(
4451 1220 9wV u n t u wQ A h nplt qnp bhptt h p UU hun 60 00[ I 60,0(
159M000 It[ulEilrpll hp, tluultnu lt huruQlzg utpuuallzuhp 6,5(
1591 I 100 Urqipn UU tJr.p 1 300 5 6,5(.

299,01
45300000 Cl It up upu ! u It - tIa h u u drylz h ufu u u u tup tu hp 290,01
4531 r 130 ElhQ npuQutt nhfu tltll ryl nh4 w41t tlu L ufuu nw tryhhp UU 4?urf 240 000 I 240,01

4531 1130 ElhQnpwQutt nLfu lltll ufi nbqu4lz rluh u2luun uhph bt UU 4Fuil 50 000 I 50,0(
454tMtu0 Cthp hph, Zh In rylnth ht n h ph Bughb tlhlztu tupnqtut It ut2lu u nu hph hp 20(
45421140 Q ahn rypf q w np u u u dut lt afu u n u ttp t4t UU qnail 9 004 I 9,0(

Oumryntplnthhhp 296 199,78
72411100 twdwgathgwflz It twnwln tp1nilt It tp tlwunryn4hhp (isp) UU wtlhu 60 00( 960.00
542m40 2 hnuh u4np4ut QgtIut h t unryntplnzhh L1t 129 280,00
6421 1250 Uppu hlut l1utfi h Quullt tlupd,a Q u1n4a1w lt twulntpln ilt h t p 2UU wdJzu 10 313 333 12 123 750,0A

64211100 2u ltltu/t b h bnufun uql h tw qn tp1nfi It LV UU uQu 460 00( 12 5 520,0A

0$10u0 ElhQnpullulntplnilt UA utilhu 9 000 00[ t2 108 000,04
651M000 9fi2 pufurlutlt L 4pu hLu l1ury{ut tunulntplnthhtp I b0,0a
65t I 1200 Ilnnqtutt gpJt tlwuuQup wp tIlttu 6ww1ntp1nilth bp UU 4ltwu 3s0 000 I 350,04

651 I 1200 O nnq[u tt 2V]t lanwQ wp utptlltw t wnwlnLpln ilt lt hp UU 4Pau 800 000 I 800,0t

6521 I 100 Q'wqlz pu2funul UU qllwI 6 M0 000 I 6 000,06

66100000 Fw ttll wlt It It It h1t4pn Ltqlz h tutnqn tpln Lb tt hp 2 084.0(
561 I 1200 Fu hl1ufi h &wryn qap ilt lt LV UU 4lurI 2 000 000 I 2 000,0(

551 I 1300 1 hr4nqlnry lt lt bunry n Lpln t b lt hp UU utIJtu 7 000 It 84,0(

90511150 Uapl ltnfu ualzdwlt tunqntplnilt tt hp UU 4lruI 873 730 T 873,73
90900000 Uutpptlw b It u utttJtuuputhlzqrt hltltQ twnalnplnilthtp I 180,00

90921 I 00 UJU nuhu ltdw h rlut Q utpnqtlt bp /t nll4utgr[u h \unulntpnfi b hp UU wrlhu 15 000 180,04

641M000 cDnuuullzlt h unryhwfuullutllzh tunqntpln fi h hp 650,0(
64121200 An u arylt tt unwpilutlt \wu1ntp1n iltlt Lp UU 4pwII 4s0 000 I 450.0(

64121200 Onuuwlt h unup[u lt ktnwln tplnLlt lt hp UU 4/1uil 200 000 1 200.0(.

723000M 9tl1tu 1lt hp lt h bu 11 ut t4tltut hunulntpln fi h bp 18 534.0(
7231 1240 9(1u 1L hVlt tlnlu u It gtlu It 6unu1 n t p1 n ilt Ff2 4lttutl r 000 0001 12 12 000.00

7231 1240 9t[1u 1tt tplt $n]uu ltgnlut h 6tilDw1ntp1n ilt 4putl 544 5001 I2 6 531.00

50100000 Onfuw4purllzgnohhnh h hwnuthho uwt ptDh t|hnw[nnna[wll wwhwutt[ub h nnuhohhu 5 035.0[

50111170 Ur/nn[hpb It uttt tp /t 14 uh q w It tlwh bdnut p tp1nilt It hp 4putI t 92 5001 l | 92,50

50111171 Ulm [hp b ltu L tp /t r4uthr4 ulttlw It tutzulnLJaJnLb lt L p q2 4?uI 128 2001 1 128,20

5011 I 172 Utlm [Lp L h u It Lp]t u1 uhul u lt lu h tun u1n Lpln LIt lt Lp a2 4puII 479 4001 l 479,40

501 1 I 173 U lm {Lp L ttu It hplz q uh q utt lu lt E un ulnqalnLbb b p 4PuI 934 9001 I 931,90

50111170 U{m[hp h ltu lt Lp]z u1u]z q ult tlu It tmulnqalnilt [t tp 4lzutI I 100 0001 I I 100.00



50111170 U4m [hpb It w It hp rt ului r4w btu b bwnuln Lpln fi h hp 4lzuu t 100 000 I I t00.01
50111170 U4nn [hph tt ut It hlfi tt! uth tq tu tt tIu tt bwnuln Lp1nilt tt b1t q2 4tturI 600 000 I 600.0(,
501 I 1 170 Ultnndbp t ltut It bltt t4 uth t4 ut h tIw h tunqntlalnt h It hp wail 500 000 T 5M.U
637M)ffi }duh4utl1 twnu4ntplnth&hp gtltlwpu/tt42pw/ztt It o4wllztt tfinfuualnwdhpnahtnh I 473.15
63721180 Lu t/fq ugfn It bmq n qap ilt h l4t uqu 94 05( 91.t8
53721 t80 L w rlf qw gf n It tunuln qaln L h h bp utlhu 151A 11 1;-1'+
507NAO0 Ghltptpnul uh4u11ryfutt uwppbllz rltputttnpnqduh b t4uhqw&dutt tunutpz4tnthhhn 1230.u
50751 100 4bp btu lt h hpJt 4bp utlqzngfu tt lt quhululttuh twqnLplnLlttthp FCU2 ulhu 65 N(, 12 , 5.r. r
50751100 4 4t htu4 It bzi 4 b?ut |tnpnqfia h h ryuhry ut fitult btmuln Lp1nfi L bp utIJru 90m, ) JXl.iX
702ouw Uhdttul! ut lt u h2ut?d qn ryplz tlupAtill uta ry1ut lt ! w[ 7f qlz tqlz twnqn Lp1nft h tp 3 650,U
7022H00 a2 plttull tplt ult2upd qnqp| (upduQwl nryluttt 11 u[ 1 /zq ltttalt UU 4llutl 3650M I 3 650.U
716M000 Shluhltlltuhult {znlAuVlltuh, {hV1nftntp1wh L lunphp4uulntpluh tmulntpJnthhLp l 59.40
71631 110 Uupp hpJz u m 4[u It t an uln qa]n L h L bp UU 4lrutI flM l 30.00
71631 I 10 UuVp hpJt umntq[utlt tutnuln tp1nilt h hp UU qNIJq 27U 2 5.J0
71631 I 10 Uutpp fufi u m Lg [u It t wnuln ryap fi b Qt UU qltuI 34 0A I 34,04
50300000 uhAltutlwh huttlwhupqh2lrtplh, qpuuhttlullutflzh uunphnhh, hhnwhwnnnnuhotrub It 570,04
5031 I 120 Zu[w q wpq2q]lt uutpp bp] tt hp w ttnpngutwb tt 14 uthr4 ut fuIw tt UU 4putl 5m0u I 500.04
5031 I 120 2tatullutpg2a/ttt uwppfutlz t/hp utnpngluttt h q u]tquh{uh UU 4ltuil 70 000 I 70.0(
98300000 Q ut It utq u h tunuln qapztt h b1t I 800,0(
5050m00 antulbpl' |wfinqpbttlz' trytubhUtlt L [tnwtuttlwh tlnhuhlrttlthtpJt tt uutpphpfi t]Lpuhnpnqrrutrt tI 435,00
50531 150 4aq ql It uwpp tpj quhq u htfu h twutlntlap fi h tp UU IIlutI 29 00( 5 t 45.00
50531 140 Qnp d, wp lt ltn 4a1 u It htn ryn qap ft It hp UU 4put[ 50 00( I 50,00
50531 140 <Dnplup lt ltn Lp1 w tt tmuln Lpln z h lt bV UU 4PwI 80 00( I 80,0a
50531200 lhQ nFuQuh uuVp hplt, u wppulqtn Ldh hVlt t! hp u tnlznqlutt It UU 4IruI 160 001 I 160.01
797M000 2 L nup It f4u 11 u h It u h {u u hqn tp1 u h bm u1n tpln fi h hp 2440t
7971 I I 10 2p2h2 u It4n wltqn rytw It tIw ult uqltuwg(ut6 6unu p tBTn Lh lt t p UU 4nuI 100 000 100,0(
7971 I I 10 4tZ bp w ltinzu hqnqapt lt [wultuqltnaglut| tunw2n4a1nilt [t hn UU utlhu 12 00a t2 t11,0(
996An00 9ttnuI 2huWuugn4 utl twJuuLp I 7 000.06
791N000 I.p w (wpw tt w 11 w h tzanryn tpln t h h bp 253,00
79131300 E 1b Q npn lt u4rt tt u unp wqpntlalw It hut t! utuu wqp tfta lt UU 4putI 3 001 11 33,00
79131 100 hputluQutlt fiw umup4pLprt h hu Q utq I wt b m w1ntp1nilt h hp UU IIluI 100 00( I t00,00
79141 100 f,p u tluputtutQuh lunphp4wn {u11 wh L u ha Lllu qdufu u tt UU 4Pu{ 120 00( 120,04
793M000 Cnillult lt uhnhuug]tutuSuL hhnuqnmLplnLhLbp, hwpgnulhhp L tllztuQutqzntplnilt 350,00
79341230 Utn ry4tt hpJt hhn I uqlut twnqn LlapLhh hp UU 4?UII 300 000 I 300,04
79341230 UtnLp4tt Lprt h hu Quul tlwt EutnulnLlap Ltt tt b1t UU 4Ituil 60 000 I 60,0(
90600000 Pwt up ut h tt h u t qln q uL u h { ut n tnn uI ttu pn tIu h It 300.0(
90621100 ?lwh rltnpltrluth tunu4n4apfihhp ,/9tprInil1 UU 4PuI 300 00( I 300,00
45500000 i]zhrytulzulluth rlbphhuthhnJz h uutFptnl {utpAutfiu\nrylnrlr',Ibphh-4.1r7 lrt- rIhh-hn 240,00
4551 1 100 y11! Q n hz I { uV d. u 11 w1n tlap fi ihp L tt u { ulzl h t n I h Q n L 4 UU 4FuI 200 00( I 200.00
71200000 &up uup wu1 h u utll ut h lt hup utlfg tutnryntpln t h h hp 5 750,00
71241200 Lutfu wqthVlt q u np uunn u[, &u.1u u tpft q& uhw un L tt 4,2 4?urI r 250 00( I t 250,0(
71241200 Lwfu uqtbpl qu np utu untd 6uJu u b1fi gltuhunnul a) 4Iur! 2 500 00( I 2 500,0(
71241200 LutJuuqthplt qutnp utunntd bufuu hnh q ltuh umLtl 4putI 2 000 000 I 2 000,01
444M0m 9tuhuqult t4uupuuuJt uVuut4ltwttp b hwpulltg uulpuhphhV 7,0[
44423300 Ut4pu ltptt fuzlt nL4 utfinJu tttu tt \unryntp1nfi It Lp UU 4pwtI 7 004 I 7,0(
724100000 Zut dugza ltga4lz tt tunryn tpln fi h hp 91,20
7241 1700 lnlb ltqfi It w It ttut Itn uIIt hp UU 4puil 91 20( I 91,:0
794N000 Fltqlttu lt llunu{uryrIuh fuphp4utu{nryt1nth It hupuQltg ttnry"ip1"rt t tp 20,00
7941 1220 thuhw u tw tt h hn 

Q a q lut fu nphll4u ntf u Q uttt 6m wlnqapilt h h1t UU 4liu{ 20 00( I 20,0a,

ttutzr4tLplathlthp 3t6 808.8865
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